oooiBgoogod
00000000 2011060 70

00

[1]00000200000000000000000 X0300000000000Y
0ooo

() X0YyOoooOoooooooo

(2)3X0Y?00000000000

[2] X,YOOOOOOOOOOE[X]=1, B[X? =2 E[Y]=2 E[Y?=6000000
000000 E[(X+Y)) 00000

000000 (000 ([3),400000000000000000000000)

30000000 X,YOOODODOODOOODODOODOO00DO0X0YOoOoooooo
0ooo
, —1<y <)

<

[4] X,YOOOOOOOOOOEX] =2 V(X)=1, E[Y]=3,V(Y)=1000000
000000 E[(3X +2Y + 1) 00000

oooo
X\Y[ 0 1 2

[5)0000000 X,YOOODOOOODOODOO0000 1 [1/4 0 1/4
2 |0 1/2 0

(1) E[XY] = E[X]E[Y]0 00O

(2)X0YOoDOOODOOO0OO
X\Y|[-1 1

[6) 0000000 X,YDOOODODOODDO00000000 —1 [1/2 0
1|0 1/2

() X?0YyOoooooooooog
(2) XOYOOOooooooood



